
Bioele&rodi	
  	
  
Esercitazione	
  1	
  

Determinare	
  l’uscita	
  di	
  una	
  classica	
  misurazione	
  del	
  segnale	
  cardiografico	
  tramite	
  
bioele&rodi.	
  Discutere	
  i	
  seguen:	
  aspe<:	
  
-­‐  Effe&o	
  di	
  ele&rodo	
  polarizzabile	
  ideale	
  
-­‐  Effe&o	
  di	
  un	
  ele&rodo	
  non	
  polarizzabile	
  ideale	
  
-­‐  Effe&o	
  di	
  uno	
  squilibrio	
  nell’impedenza	
  

Si	
  considerino	
  	
  l’impedenza	
  di	
  ingresso	
  (Zin)	
  e	
  di	
  isolamento	
  (Zis,	
  modo	
  comune)	
  pari	
  a	
  
2R	
  (R	
  ordine	
  dei	
  100MOhm)	
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

  
  ÷   ÷ 
 ÷ µ  ÷ 

 µ ÷ 
 µ ÷ 
 µ ÷ 

 ÷    ÷ 
  ÷ 


   

 ÷     
 ÷      

 ÷    ÷ 



Schema:zzazione	
  problema	
  



Risoluzione	
  del	
  circuito	
  
•  Il	
  circuito	
  può	
  essere	
  scomposto	
  come	
  riportato	
  in	
  seguito	
  

(trascurando	
  Z3)	
  



Risoluzione	
  del	
  circuito	
  
•  Applicando	
  la	
  sovrapposizione	
  degli	
  effe<	
  si	
  o<ene	
  

	
  
	
  

V + = (Vc(t)+ S(t)) ⋅ R
R+ Z1

V − =Vc(t) ⋅ R
R+ Z2

Vo(t) = A ⋅ (V + −V − ) = A ⋅ R
R+ Z1

⋅S(t)+ A R
R+ Z1

−
R

R+ Z2
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(⋅Vc(t)

k1 =
R

R+ Z1

k2 =
R

R+ Z1
−

R
R+ Z2 Z1

Z1 + R
=

Z2
Z2 + R

≈ 0

Ipotesi	
  



Effe&o	
  impedenza	
  di	
  ele&rodo	
  

Vo(t) = A ⋅ (V + −V − ) = A ⋅ R
R+ Z1

⋅S(t)+ A R
R+ Z1

−
R

R+ Z2

#
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k1 =
R

R+ Z1
Z1(s) =

R
RCs+1

Impedenza	
  
	
  di	
  ele&rodo	
  

Ipotesi:	
  Z1=Z2	
  

Vo(s)
S(s)

= F(s) = A ⋅ k1(s) = A ⋅
R(R1C1s+1)

RR1C1s+ R+ R1



Comportamento	
  in	
  frequenza	
  

F(s) = A R(R1C1s+1)
RR1C1s+ R+ R1

= A R
R+ R1

R1C1s+1( )
RR1C1
R+ R1

s+1
!

"
#

$

%
&

G0 = A
R

R+ R1

Zero	
  in	
  1/R1C1	
  
	
  
	
  
Polo	
  in	
  (R+R1)/(RR1C1)	
  

•  Se	
  R	
  molto	
  elevata	
  rispe&o	
  a	
  R1	
  polo	
  e	
  zero	
  si	
  elidono	
  	
  
	
  Esempio:	
  Considerando	
  C=0.001uF,	
  R1=100Ohm,	
  R=1000MOhm,	
  Wz≈Wp≈10M	
  

rad/s	
  (1.6MHz)	
  
(effe&o	
  dell’elevata	
  impedenza	
  di	
  ingresso	
  dell’amplificatore	
  da	
  strumentazione)	
  

	
  



Effe&o	
  impedenza	
  di	
  ele&rodo	
  
1.  Ele&rodo	
  polarizzabile	
  ideale	
  	
  
– Z1	
  molto	
  grande	
  -­‐>	
  solo	
  capaci:vo	
  

Zi (s) =
1
Cis

k1(s) =
R

R+ Z1(s)
=

RC1s
RC1s+1

F(s) = A RC1s
RC1s+1

Zero	
  nell’origine,	
  le	
  basse	
  
frequenze	
  vengono	
  
a4enuate,	
  non	
  passa	
  la	
  
con8nua	
  
	
  
Polo	
  in	
  1/(RC1)	
  

•  Esempio:	
  Considerando	
  C=0.001uF,	
  R=100MOhm,	
  Wp≈10	
  rad/s	
  (1.59Hz)	
  
	
  

Wp	
  

A	
  
N.B:	
  per	
  frequenze	
  alte	
  	
  
non	
  c’è	
  a&enuazione	
  



Effe&o	
  impedenza	
  di	
  ele&rodo	
  

2.  Ele&rodo	
  non	
  polarizzabile	
  ideale	
  	
  
– R1	
  molto	
  piccola	
  -­‐>	
  solo	
  resis:vo	
  

Zi (s) = Ri k1(s) =
R

R+ Z1(s)
=

R
R+ Ri

≈1

F(s) = A R
R+ Ri

≈ A

La	
  F(s)	
  è	
  costante	
  e	
  
l’a4enuazione	
  è	
  molto	
  
bassa	
  



Effe&o	
  squilibrio	
  impedenza	
  

•  Z1≠Z2	
  
– Contributo	
  del	
  segnale	
  a	
  modo	
  comune	
  Vc	
  non	
  
più	
  trascurabile	
  (k2≠0)	
  

– Disturbo	
  di	
  modo	
  comune	
  riportato	
  in	
  ingresso	
  e	
  
amplificato	
  	
  

– Riduzione	
  della	
  reizione	
  del	
  modo	
  comune	
  
dell’amplificatore	
  


